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4 Markers: 

Describe the events of the Kapp Putch: (Came up 2 times)

· A group of 5000 Freikops, led by Dr Kapp, attempted to take power in Berlin, in March 1920. 
· The government fled from the city
· Kapp set himself up as head of a new government
· His aim was to recover land taken by the Treaty of Versailles
· The army refused to stop Kapp
· The putsch was defeated by the people of Berlin
· Workers went on strike and Berlin ground to a halt
· Kapp fled to Sweden as he failed the Putsch 

Who were the Spartacists and what were their actions? (Came up 3 times)

· A communist group who formed the Spartacus League
· They wanted Germany to be governed like Russia after the Revolution of October 1917 with workers’ and soldiers’ councils in each town
· The leaders were Rosa Luxemburg and Karl Liebknecht
· They opposed the new German republic and Ebert
· At the end of 1918 they renamed themselves the German Communist Party
· They tried to seize power in January 1919 occupying public buildings and calling a general strike
· After two weeks, the revolution was defeated by the Freikorps and the leaders assassinated 

What political problems existed in Germany in the period 1918-1920? (Came up 1 times)

· There were strikes and demonstrations in 1918.
· Sailors took over Kiel
· There was a new democratic government
· Kaiser Wilhelm had fled the country
· There was the Kapp Putsch
· There was the Spartacist rising in 1919
· In 1920, the Freikorps led by Kapp tried to set up a right-wing government. 
· There was a general strike of Berlin workers
· Communists thought there should be a revolution

What were the main features of the Weimar Constitution? (Came up 4 times) 

· It was a democracy
· Everyone 20 and over could vote (Includes women) 
· Election results decided by proportional representation
· The chancellor was head of government
· A president, elected every seven years, was head of state (2)
· The president had emergency power to dissolve the Reichstag and rule himself.
· Proportional representation made it unlikely that any party would have overall control, resulting in coalition governments.’ (2)
· They voted for the President who appointed the Chancellor.’ (2) 


What were the weaknesses of the Weimar Constitution?

· The Constitution was a parliamentary democracy. The German people were not used to this method of government
· The Constitution introduced proportional representation which led to many elected parties
· This meant it was difficult for any party to maintain a workable parliamentary majority
· It meant there were frequent changes in the government / many elections
· A succession of coalition governments was inevitable
· The President could dismiss the Chancellor
· The President, under Article 48, could suspend civil liberties and even use force
· The W.R was introduced in difficult political, social and economic circumstances.’ 

Describe the occupation of the Ruhr in 1923. (Came up 1 times)

· Germany failed to pay its reparations.
· Troops from France and Belgium entered the Ruhr
· Belgium and France wanted to take goods
· German workers went on strike bringing production to a halt.
· 100 strikers were shot and 100,000 were expelled 
· The government called for passive resistance with French and Belgian troops

Describe the activities of the Freikorps, 1919-1920 (Came up 2 times) 
· The Freikorps were made of ex-soldiers
· They put down Communist risings
· They were used by the government to protect borders against the Red Army
· They crushed the Spartacist League and murdered Liebknecht and Luxemburg in Jan 1919. 
· In March 1919, they crushed strikes in the Ruhr, Rhineland and Saxony
· In May 1919, they defeated the Bavarian Soviet Republic
· In March 1920 members of the Freikorps attempted to overthrow the government in the Kapp Putsch, but failed
· In 1920, many of the Freikorps joined Hitler and the NSDAP, including Ernst Rohm. 
Describe conditions in Germany at the end of WW1. (Once) 
· The people were surviving on turnips and bread – 1000 calories per day.
· Flour was mixed with sawdust to make it go further.
· A Third of the pig’s population killed as no food 
· A flu epidemic swept across the country killing thousands
· The War left 600,000 widows and 2 million children without fathers
· The country was virtually bankrupt.
Describe the Communist threat to the Weimar Republic between 1919 and 1920 (2 times)
· A Communist group, known as the Spartacists, wanted Germany governed like Russia after the October 1917 Revolution. 
· The leaders were Rosa Luxemburg and Karl Liebknecht
· They tried to seize power in January 1919 but the revolution was defeated by the Freikorps and both leaders were killed.
· Another outbreak occurred in Bavaria but Ebert again used the Freikorps to crush the revolt in May 1919. Over 600 Communists were killed.
· In 1920, there was more Communist agitation in the Ruhr industrial area. Again police, army and Freikorps clashed with Communists. There were 2000 casualties.’ 
Describe the effects of the hyperinflation of 1923 on the lives of German people.
· Prices rose to unbelievable heights
· Wages were paid three times daily
· Those on fixed incomes or salaries were hardest hit
· Those with savings lost everything
· Pensions for the elderly lost their value
· Businesses went bankrupt
· Standards of living fell as many could not eat properly.
· Those who borrowed money found they could pay it back quickly
· Money had no value and it was difficult to purchase necessities – 1 loaf of bread was 201 billion marks 
· Many people were hungry as they could not afford to buy food
· People found their money had no value
How did Stresemann end hyperinflation?
· He introduced a new currency, the Renten-mark
· He called in the worthless Marks and burned them
· Government spending was reduced which involved 700,000 government employees losing their jobs.
· The new currency remained stable because the Americans were willing to give loans to support it through the Dawes Plan by which the Americans agreed to loan Germany 800 million gold marks. 
· It was decided that the annual reparations payments should be reduced and Germany given longer to pay. These measures helped end hyperinflation and brought confidence back
What were the main economic challenges facing the Weimar Republic when it was established? 
· The country was close to bankruptcy because of the enormous expense of the war, which had lasted much longer than most people expected
· Germany was heavily in debt
· People were living a ‘hand to mouth’ existence with just 1000 calories daily.
· The Saar Basin was removed from German control for fifteen years, a major coalfield for Germany.’
· Alsace-Lorraine was returned to France rich in iron ore.’ 
· There were threats that Germany would have to pay huge sums for reparation
· Industries had to convert from war production to producing materials for new infrastructure and consumer goods
· Although small compared to 1923, there were signs of rising inflation and a question of how genuine was the existing mark 
Describe the German Revolution of 1918:
· October 1918, von Hipper and von Scheer planned a final attack on the Royal Navy. Some crews refused to obey orders and on three ships there was outright sabotage and mutiny
· On the 4th of November, sailors in Kiel mutinied leading to the setting up of a soldiers’ council. By the evening, Kiel was under the control of 40,000 rebellious sailors, soldiers and workers
· On the 6th of November, Wilhelmshaven fell to the mutinous sailors
· By the 7th of November, Hanover, Brunswick, Frankfurt and Munich had fallen to the revolution
· In Munich, a Workers’ and Soldiers’ Council forced the King of Bavaria to abdicate
· Bavaria was declared to be the Bavarian Soviet Republic
· The Kaiser abdicated and went into exile in the Netherlands on the 9th of November
· Ebert declared that Germany was a republic with himself as President and Scheidemann as Chancellor
· A Council of People’s Representatives was formed to establish the way forward headed by Ebert
· The Spartacists decided to found the Communist Party of Germany to achieve their aims
What were the disadvantages of proportional representation for Weimar Germany? 
· The Germans were not used to it
· The Germans were used to the Kaiser’s autocratic system of government.’
· Through PR some extremist parties were represented in the Reichstag.’
· Extremist parties now had a voice and publicity.’
· PR prevented overall control by one party.’
· A coalition government gave the impression of not being a strong government.’
· Coalition governments were made up of representatives from different parties
· Coalition governments were often short-lived creating political uncertainty and instability.’ 
The role of the President under the Weimar Constitution?
· Administer emergency powers – Article 48
· He was Head of State
· Supreme Commander of the Army
· He could suspend the Constitution.’ 
· He could keep a Chancellor in office even if the Chancellor had lost the support of the Reichstag
· He kept control of the government
· Appointed and dismissed the Chancellor
6 Markers: 
Why was there an economic crisis in Germany in 1923? (Came up 3 times) 
· The German mark lost all value because of hyperinflation
· The government printed so much money that it became worthless. 
· 1 loaf of bread was 201 billion marks by November 1923
· Germany had to send large quantities of goods to France and Belgium as part of the reparations payment. There were not enough goods and prices rose. The government then printed more money
· The government printed more money to pay reparations and the workers of the Ruhr. This made inflation worse. 
· The Treaty of Versailles said that Germany had to pay reparations. These were later fixed at a very high figure putting an extra burden on the German economy that was being rebuilt after the war.
· The French Occupation of the Ruhr in Jan 1923 due to Germany defaulting on payments in 1922 so the French and Belgian wanted to take the Ruhr’s materials as it was high in coal and iron. This led to passive resistance and eventually hyperinflation as the economy collapsed. 
Why did many Germans hate the Treaty of Versailles? (Came up 1 time) 
· It was a ‘diktat’. The Germans were not allowed to negotiate
· They were forced to accept the responsibility for all the damaged caused and had to pay reparation.
· The high reparations caused hyperinflation
· The armed forces were reduced. This hit German pride.
· Areas such as the Saar and Upper Silesia were lost and this affected the economy




Why was 1923 a year of crisis for the Weimar Republic? (Came up 4 times) 
· French and Belgium troops entered the Ruhr and began to take what was owed to them in the form of raw materials and goods
· The government ordered passive resistance (strike). The French reacted harshly killing over 100 workers and expelling 100,000.
· There were no goods to trade so the government printed more money. Prices rocketed and the money was worthless. There was hyperinflation.
· Business went bankrupt and people’s savings were wiped out. 
· There was the Munich Putsch with Hitler attempting to seize power from the Weimar Republic. Because of its financial difficulties, Hitler believed the Republic was on the verge of collapse and he tried to seize power. Although it failed the Putsch gave Hitler publicity
Why was the Weimar Republic in danger of collapse in 1919-1920? (Came up 3 times ) 
· ‘The Spartacists were Communists led by Liebknecht and Luxemburg. They were against a democratic Germany. In 1919, they launched their bid for power, but they were defeated by some anti-Communist ex-soldiers called the Freikorps.
· In Feb 1919, Kurt Eisner, an ally of President Ebert, was assassinated by political opponents. The Communists in Bavaria seized the opportunity to declare a Soviet Republic in Bavaria. Ebert used the same tactics as he had against the Spartacists. The Freikorps crushed the revolt in May 1919 when 600 Communists were killed.
· In 1920, there was more Communist agitation in the Ruhr. The police, army and Freikorps again defeated the Communists
· In May 1919, the terms of the Treaty of Versailles were announced. Most Germans were appalled. Supporters of the Weimar government felt betrayed by the Allies. The Kaiser was gone so why should they be punished for his war and aggression. Opponents of the regime turned their fury on Ebert.
· In March 1920, Dr Kapp led 5,000 Freikorps into Berlin in a rebellion. The army refused to fire on the Freikorps and it looked as if Ebert’s government was doomed. It was saved by the ordinary German people. The industrial workers declared a general strike which brought the capital to a halt in protest of the Kapp Putsch. It dissolved away.

Why did some political groups oppose the Weimar Republic?

· They were not used to coalition government
· The Republic was associated with the Treaty of Versailles.
· The Right wanted a strong one party government.
· The Left wanted a communist style government
· The Nazis associated it with the ‘November Criminals 
· It was associated with a weak economy and high inflation 
· It allowed invasion by France and Belgium 
· On the right wing, nearly all the Kaiser’s former advisers remained in their positions in the army, judiciary and civil service. They restricted what the government could do. Many still hoped for a return to rule by the Kaiser
· One left wing group was a Communist party known as the Spartacists. The party was much like Lenin’s Bolsheviks. They argued against Ebert’s plans for a democratic Germany. They wanted a Germany ruled by workers’ councils or soviets



Why was the Dawes Plan needed by Germany in 1924? (Once) 
· In 1919 Germany was close to bankruptcy because of the enormous expense of the war. To get the economy going, it needed an injection of capital, such as the Dawes Plan, to get the wheels of industry moving again.
· Germany’s attempts to pay reparations instalments made matters worse. Germany had requested permission to suspend payments until its economy recovered. The French refused and in 1922 the Germans were unable to make the full annual payment. It needed a loan, such as the Dawes Plan, to help pay these early instalments.
· In January 1923, the French occupied the Ruhr to seize goods from the factories and mines. The German government ordered the workers to follow a policy of passive resistance. German industry was paralysed in the Ruhr and the effect on the German economy was catastrophic.
· By November 1923 the value of the mark was falling rapidly, causing hyperinflation. There was a need to stabilise the mark. A new currency and a massive loan were the aims of Stresemann.
· The Dawes Plan was needed to rebuild industry, to increase employment, to increase international trade and increase profits. It could also help pay back reparation instalments.
Describe the situation in Germany between September 1918 and the signing of the Armistice in November 1918 
· By September, the British blockade of German ports had produced serious food shortages
· People were surviving on turnips and bread
· A flu epidemic swept across the country killing thousands
· ‘In October, sailors at the naval base at Wilhelmshaven mutinied
· ‘There was a mutiny at Kiel when the order was given for one last attack on the British navy
· On 7 November, Kurt Eisner declared Bavaria to be a socialist republic
· On 9 November, Kaiser Wilhelm abdicated and went into exile in the Netherlands
· Friedrich Ebert, a leader of the SPD, announced that Germany was a republic with himself as president and his colleague Scheidemann as chancellor
· The new government signed the Armistice on 11 November

10 Markers:

Hyperinflation was a disaster for Germany? How far agree? (Came up 1 times) 

Agree: 
· People on fixed pensions found them useless 
· Middle class saw their savings and businesses destroyed
· Led to extremists like Hitler to gain support
· Rich businesses took over small businesses 

Disagree: 
· Stresemann replaced the mark, dealing with the situation well, bringing confidence to him
· This also led to Germany getting US loans 
· It allowed Germany to go into the LoN 
· Cultural Revival through painters and theatre






How successful was the Weimar republic in dealing with Germany’s problems by 1929? (Came up 8 times) 
Agree:
· Between 1924 and 1929 Germany received over 25 billion marks in loans. With this German industry was re-built
· Hyperinflation was ended and confidence returned with the introduction of a new currency and reduction in government spending.
· In return for starting to pay reparations again the Germans, under the Dawes Plan received loans of 800 million R.M to encourage industry thus raising the standard of living and resulted in the French and Belgium troops leaving the Ruhr in 1925.
· In 1929, the Young Plan reduced reparations by 67% and extended the paying period.
· By 1928 industrial production was higher than pre-war levels
· Germany was accepted back into the international community through the Locarno Pact (1925) and the Kellogg-Briand Pact (1928). They also joined the League of Nations (1926).
· A more open approach resulted in a revival in art and culture through newspapers, theatres, painters and literature.
Disagree: 
· There remained serious problems with the economy which depended on American loans that could be withdrawn at any time
· Unemployment remained a serious problem as the economy was not growing fast enough.’ 
· To an extent, Germany’s recovery after 1923 was an illusion. The economic recovery depended on loans, while some sectors, such as agriculture, were in serious trouble
· Farming suffered from depression throughout the 1920s due to the fall in food prices. Many farmers went into debt.
· Some argued that the new ideas of culture and art were unpatriotic and they wanted to celebrate traditional values. They argued this new phase meant that Germany was going into moral decline.
· No one party could secure a majority in the Reichstag and nationalists opposed Stresemann’s policies.
· Extremist parties such as the Nazis and Communists were determined to overthrow the Weimar Republic and were gaining support fast. In 1925 Hindenburg was elected President. As he was a supporter of the Kaiser this indicated the true feelings of many.
· ‘Following the Wall Street Crash, the USA recalled their loans and once more Germany sank into economic depression. People blamed the Weimar government and turned to extreme groups offering a radical solution. This was to lead to Hitler and the Nazis destroying Weimar








‘Economic success was the main achievement of the Stresemann era.’ How far agree (Came up 3 times) 
Agree:
· He ended hyperinflation and brought confidence back by introducing a new currency and reducing government spending
· In return for starting to pay reparations again, the Germans, under the Dawes Plan, received loans to encourage industry therefore raising the standard of living and resulting in the French and Belgium troops leaving the Ruhr.’ 
· By 1928 industrial production was higher than pre-war levels. 
· Stresemann re-negotiated reparations under the Young Plan.
Disagree: 
· Economic prosperity was based largely on foreign loans. Exports were falling and yet huge sums were being spent on welfare and health care
· Many historians have thought that Stresemann’s biggest achievement was getting Germany accepted back into the international community. He signed the Locarno Pact, joined the League of Nations and signed the Kellogg-Briand Pact against the use of war
· A more open approach resulted in a revival in art and culture through newspapers, theatres, painters and literature
‘The Weimar Republic was a failure’ How far do you agree?
See how successful was the W.R in dealing with problems: 
By 1929, W.R had better success with F Policy than Domestic Issues. How far agree? (Came up 1 times) 
Agree:
· In 1922, Germany and the USSR re-established diplomatic relations in the Treaty of Rapallo.’
· Stresemann signed the Locarno Pact in 1925. Germany confirmed its western borders with Belgium and France.
· Because of Locarno, Germany was accepted into the League of Nations in 1926 as it had shown a responsible attitude
· In 1928 Germany was one of the signatories of the Kellogg-Briand Pact which had stated that countries would not go to war to settle international disputes.
· Stresemann had worked closely with the Americans in securing loans under the Dawes Plan (1924) and reducing and extending the payment period of reparations in the Young Plan (1929).’ 
Disagree:
· The early domestic problems of the Weimar Republic, such as the Spartacist rising and the Kapp Putsch, were overcome
· The economic problems up to 1924 were severe, especially the hyperinflation. Stresemann ended hyperinflation and brought confidence back by introducing a new currency and reducing government spending.
· A more open approach resulted in a revival in art and culture through newspapers, theatre, painters and literature
· Economic prosperity was based largely on foreign loans. Exports were falling and yet huge sums were being spent on welfare and health care.’ 
How far was the introduction of a new currency responsible for Germany’s recovery in the years before 1929? Explain your answer. (Once)
Agree: 
· Stresemann ended hyperinflation and brought back confidence by introducing a new currency, the Renten Mark, and, at the same time, reduced government spending. 
· The new currency remained stable because the Americans were willing to give loans to support it.’ 
Disagree:
· Much of the credit for the transformation must go to Gustav Stresemann, who became Chancellor in August 1923. 
· He was a committed nationalist, but believed Germany’s problems could be solved only by moderation and working with other countries
· The recovery was because of the enormous loans given to Germany by the USA. 
· Between 1924 and 1929, Germany received over 25 billion marks in loans. 
· With this German industry was re-built. An example of the loans was the Dawes Plan, which was negotiated with the USA and provided Germany with loans of 800 million gold marks. 
· It also decided that the annual reparation payments should be reduced and Germany given longer to pay
How far did Stresemann restore pride and prosperity to Germany? Explain your answer. 
Agree: 
· Stresemann ended hyperinflation and brought confidence back by introducing a new currency and reducing government spending
· He negotiated the Dawes Plan to get loans from the USA and renegotiated reparations through the Young Plan
· There was an art and cultural revival through newspapers, theatres, painters and literature 
Disagree:
· Some argued that the new ideas of culture and art were unpatriotic and they wanted to celebrate traditional values. 
· They argued this new phase meant that Germany was going into moral decline
· Economic prosperity was based largely on foreign loans. 
· Exports were falling and yet huge sums were being spent on welfare and health care 
Cultural Weimar achievements and failures: 
· Writers, poets and artists flourished, especially in Berlin
· The famous Bauhaus style of architecture developed – this rejected traditional style to create new and exciting buildings
· A golden age for German cinema, with stars like Marlene Dietrich and directors like Fritz Lang
· Clubs and nightlife flourished, with 900 dance bands in Berlin in 1927
· Censorship removed such as cabaret artists performed songs criticizing political leaders that would be banned in Kaisers day
· BUT many people in country towns and villages thought there was a moral decline going on in the big cites, made worse by American immigrants and Jewish artists and musicians – Nazis used these feelings
40 Markers:
How significant were the military terms of the Treaty of Versailles as a cause of the problems of Weimar Germany, 1919–23? Explain your answer.
YES 
· Massive reductions in German armed forces left Germany humiliated and defenseless – 100 000 soldiers, 15 000 sailors, 6 battleships and no U-boats, air force, tanks, artillery, conscription
· War Guilt Clause (Article 231) caused many Germans to resent Peace Settlement and Weimar government
· Rhineland was demilitarized for 15 years and left Germany open to French invasion
· Left tens of thousands ex-soldiers unemployed after the war
· Many turned to right-wing extremist groups such as the Freikorps and Nazi Party in the early 1920
NO 
· Territorial terms of Versailles saw 13% of German land lost along with ethnic Germans now in foreign territory – Loss of Pride
· Versailles settlement led to reparations payments totaled at
· £6.6 billion in 1921; led to widespread hatred of Treaty and Weimar government ‘stab in the back’ 
· Germany lost Saar coalfields for 15 years to France which was humiliating
· Loss of overseas colonies reduced foreign trade in Germany
· Failure to pay reparations led to Ruhr invasion, passive resistance and hyperinflation
· Political unrest caused by left and right-wing extremists
· Weakness of Weimar Constitution
· Social and economic impact of WWI; Armistice, etc.
How important was the Treaty of Versailles in causing the domestic problems of the Weimar Republic to 1929? Explain your answer. 
Yes:
· War Guilt Clause led to humiliation and resentment – especially ex-soldiers and Generals
· Stab in the back myth
· Reparations of £6.6 billion led to economic hardship
· Germany’s failure to pay led to Ruhr invasion in 1923 (France not happy with Versailles Settlement) and subsequent hyperinflation
· German territorial losses – 13% of land lost to Poland, Denmark, Belgium, France and Lithuania – led to displaced German families; overseas territories lost and loss of pride
· German status a world power decreased, helped right-wing extremist parties gain support
· Military terms of Treaty – 100 000 soldiers, 15 000 sailors, six battleships, no U-boats, tanks or air force, no conscription and demilitarised Rhineland left Germany weak and defenseless
· Unemployed soldiers led to Freikops growth
· 1920 Kapp Putsch and 1923 Munich Putsch. 




No 
· Germany already bankrupt at the end of the First World War – Naval Blockade
· Left wing extremism already causing civil unrest before Versailles e.g. Spartacists in 1919
· New Weimar Constitution gave emergency powers to President which weakened democracy
· Reichstag was weak due to coalitions and proportional representation
· Stresemann dealt with economic problems caused by Versailles – Dawes Plan, 1924 gave loans from USA (led to problems in 1929 after Wall Street Crash), Young Plan, 1929
· He ended hyperinflation and introduced new currency – Renten-mark
· Locarno Treaty, 1925 and Germany joins League of Nations in 1926 etc. 
How important were reparations as a cause of the problems of the Weimar government between 1919 and 1924? Explain your answer. 
Yes
· £6600m cost claimed to be too high for Germany: Ebert and colleagues seen as the ‘November Criminals
· War Guilt resented; contributed to the opposition in the army – Kapp Putsch
· Occupation of the Ruhr and hyperinflation; led to opportunities for Nazis to exploit – Munich Putsch
No
· The annual payment set in 1921 was only 2% of output. 
· Other problems more important; resentment of the Armistice, Ludendorf and Hindenburg’s disloyalty
· Territorial losses in Treaty of Versailles, Diktat seen as unjustified
· Conservatism favoured monarchy, suspicious of democracy
· Constitution and proportional representation weakened government stability
· Emergency powers (Article 48) caused weakness – used 136 times by Ebert
· Communist uprisings – Kiel Mutiny, Spartacists and Bavarian Republic
· Munich Putsch was more from resentment of intended dissolution of Freikorps
· Stresemann, Dawes Plan and Renten-mark resulted from reparations and went some way to stabilising Germany and thus were a positive outcome rather than a ‘problem’









How significant was political disorder in causing the weakness of the Weimar Republic in its early years? Explain your answer. 
Yes
· Workers’ soviets, Spartacists and Bavarian Republic
· Faced with the threat of disbandment of the Freikorps, Luttwitz and Kapp Putsch in 1920
· Army would not support the government; forced to leave Berlin
· Organization assassinations including Erzbertger and Rathenau
· Disorder of Communists and SA on the streets; Munich Putsch in 1923, significant because of army leaders von Seeckt, von Lossow, Ludendorff
· Red rising in the Ruhr; November Criminals and ‘stab in the back’, etc. 
No 
· Territorial losses in Treaty of Versailles and reparations
· Resentment of ‘war guilt’ and November Criminals
· Constitution and proportional representation weakening government stability
· Conservatism favoured monarchy, suspicious democracy
· Other institutions such as judiciary, police, anti-Republican, thus unreliable; occupation of the Ruhr and hyperinflation
· DNVP share of vote at 19% in 1924
· Not allowed into League of Nations until 1926 – international isolation. 
Stresemann Era (EXTRA FACTS FOR HIGH MARKS)
Economic Achievements: 
· By 1927, production exceeded that of 1913; Foreign trade was larger
· Post Young Plan – Germany gained financial independence of railways and banking
· Renten-mark maintained value
Failures:
· Economy revived but high unemployment (nearly 2 million in 29)
· Criticized as seen as Germany submitted to US control of their banks and railway
· German Nationalist Party called it ‘second Versailles’
· Germany had a failing import/export balance
· 1924-1930 – 1300 million Reich marks deficit – Germany could not support herself
· Dawes Plan failed in preventing over 5% inflation; remained high inflation so more foreign investors so Germany dependent on the investors
· 5.8M signed plebiscite against Dawes (49% of population) 
· Dawes seen as accepting ToV





Domestic Policies Achievements:
· Republic had support – 1 million strong para-military force
· 1928 election – less then 30% extremist – Nationalist lost 30 seats 
Failures:
· 3.5 million KPD members 
· Split left – KPD and SPD and democrats
· Hindenburg election led to a surge in pro-Kaiser sentiment and he was anti-democracy
· Strong leadership undermined by instability
· Many coalitions led to no policies made 
· Middle class lost out to big business and voted for smaller parties breaking parties up
Foreign Policy Achievements:
· Stresemann obtained Anglo-French agreement and agreed to fight for France
· Allies reduce Rhineland troops by 10,000 and made them leave 5 years early in 1930
· Accepted LoN allowed him to gain some nationalist support as he did it to get Poland
Failures:
· Nationalists called Locarno treason refusing to accept the loss of Alsace-Lorraine demanding the removal of the ‘War Guilt lie’
· German public not impressed by treaties






